10.

ASSIGNMENT-1

(DBC31)

B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Third Year
BUSINESS LAWS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS
Consideration
&5

Capacity of Parties
00 egHen

oJ°
Free consent
?‘).S‘TD K)‘Q)é@
Wagering agreement
e 2a)0W DV
Agreement to sale

@250&52.6&) DB 2,9)0BHN.

Sale by non-owner
O0BITDHY 535% o°go° @éoéééw

Memorandum of association
‘&)o%v‘&)?é J®o

Explain the classification of Contract.
S0y HBEG R0 DHBOWIDY.

What is the difference between sale and agreement to sale?
eﬂm&§;6a>, eamégéoo am‘gm RS elat WY 25045?5 B D0ed?

What are the rights of unpaid seller?
DYOYSD BHREY TR VBSEHVV ID?



(DBC31)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
BUSINESS LAWS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the various modes of winding up of the Company.
Eowd Z)B}’oéj"%)o D00 DY }bg BV DHBoWodwW.
Write about the Redressal mechanism under consumer protection Act.

OB 8¥es g0 8o BIBYS 05°d@0 80D FAHOG.

What are the essentials of Valid Contract?
SPOTEE SHOVD eHBEHOL ID?

Explain the rules regarding Contingent Contract.
esi{o&HoE S°oLeJ°§83§o 002080 DOITCORN0 DB0oWOW.

Rights and Duties of unpaid seller.
6920‘@)93) @zsogéoomdox) @508 DSoen.

Describe the Implied condition and implied warranties.
(D) Adoew, D00 HBoRBW.

Explain in detail about the Consumer Councils.
DIABIHTEIO D00k DHBoWODW.

What are the remedies available for Breach of Contract?
SP0eE) OBV DICE T80 DI.



(DBC32)
ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
INCOME TAX AND PRACTICAL AUDITING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Tax Audit
e ed DdY

Government Audit

(DB esces

Types of Audit Report
e3¢5 DIAE Szoen

Internal Control

©oBEH DABIoBED

Explain various objectives and characteristics of Auditing.

e3G 630 BE); DD 323055"9)?60 D803 OFEFON DHBoWosk.

What is Audit Note Book? State the contents and objectives of Audit Note Book.
‘@365 S5 YVE BIMTIWN? $&E S YAFo D06 ®oraHy o8 éée"?se):so

BB,

Who is an auditor? Discuss the qualifications and disqualifications of a company

Auditor.

eGewb oI JHS? Kod edwd BwE); ofHen H0BABL eIHeR Kr8)

$8y0% o&.

What is audit report? Explain the characteristics of Audit Report. Also state the
essentials of Audit Report.

e3¢5 DIBE @I W2 6Ge IIBE BwE), oferod HBoHod HoBAsw esded
DIBEL R0 SHFGTTON BOVDod.



(DBC32)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
INCOME TAX AND PRACTICAL AUDITING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Person
558

Perquisites

P16 ISFARION)
@

Casual Income

sgwéeg 30300

Provident fund
9B 05 Po&

List out various Incomes which are fully exempted and partly exempted from
Income Tax Act.

&TPAR0 VDY DO (808 P8 DITF00BED DB FEE0M NDIP000VEN

DD STOII® ePDTERD [FP030G.

Explain the provisions regarding carry forward and set off of losses.
DL oD &8 Dotaner HoBATN HOGIE HE"D FFeEd M VOVOFODH ATeN D)
K38y DdB0W0é.

Following are the particulars supplied by Mr. Ravi. Compute his income from
House property.

House -1 House —1I

Particulars 3 3
Municipal Value 80,000 1,20,000
Fair Rental Value 90,000 1,20,000
Standard Rent 1,00,000 1,00,000
Actual Rent 1,20,000 Self occupied
Date of construction 1-06-2012 1-09-2015
Interest on loan 10,000 12,000

Pre-construction interest 40,000 30,000



Education cess 4,000 2,000

Annual charges 14,000 —
Fire insurance premium 3,000 4,000
Ground Rent - 6,000

Mr. 82 8502 907080 BNIEIIB. 7763 00D @B BwE); KQ)ZFG?%)) e8T3°0300:00

B8),0%06.
2% e Myaro -1 Kyaro —II
N N

B0ydS dend 80,000 1,20,000
OINEIID VD 90,000 1,20,000
oe3Y g 1,00,000 1,00,000
TADE @g 1,20,000 g0T*O8 T°EOE
RO B 1-06-2012 1-09-2015
200E0 P DG 10,000 12,000
K)G‘aerbé D000 Bﬁé 40,000 30,000
acsbag-?ofo 4,000 2,000
08 e 14,000 -
of) DI DB 3,000 4,000
(To& &g - 6,000

Compute Total Income and Tax Liability of Mr. Vasu for the A.Y 2022-23.

g
Gross salary 3,00,000
Royalty (Gross) 50,000
Expenses incurred on Royalty 10,000
Interest on Bank Deposit 20,000
Life insurance premium on his own life (sum assured Rs. 50,000) 12,000
LIP on the life of his wife 5,000
LIP on the life of his major son (not dependent on Mr. Vasu) 4,000
LIP on the life of dependent brother 3,000
Contribution to Recognised provident fund 30,000
Amount deposits in PPF 10,000

Contribution to ULIP 8,000



Repayment of housing loan taken from LIC (principal amount 90,000
Rs. 50,000 and interest Rs. 40,000)

Subscriptions to units of notified mutual fund 32,000
Amount incurred on the education of child for 3 children 45,000
Term Deposit for 5 years in a Schedule Bank 25,000

N0 ‘(oo:ﬁéﬁa‘\)cﬁo 2022-23 & ™0 Mr. °0 3&3&20 e3TP03000 DB ‘&)iéooz
e S§BRY B88),0%08.

oSl
Aro H¥o 3,00,000
oA (ATORI) 50,000
oo P ©oD B 10,000
gt Green P 3G 20,000
TR0 BB 20 BOB0 P DY0dD BB DI (DA 12,000
(3008 0 580 83°.50,000)
g5 B2B0P DYodS BDB HSI® (2RAK0 5,000
30290 377500 BIB0 P Y0 HIT (R0 (T P 4,000
SPEIESE)
TP STEDE &) ABED BIB0 P D0 BHI (HAOA0 3,000
K080 DP0BD [PT0e5 Do&EHE VBIETBYS Indo 30,000
298 30% 065 Dok 50Ky Grdew 10,000
ULIP £ 10 95055°8y% 30080 8,000
LIC %009 &08°%) Ky aoes0 S8R 30 (ehen 38 o 85°.50,000 90,000
508050 83°.40,000)
0802 2083 HgHFHS Dok ARy HoT® BALEDD 32,000

45,000

3 %agg@ DEPEETSO0 M) 29093 Ingo

WS E argoS® 5 HoBBITEEd Ko SFeNBS e 25,000




10.

ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Sunk costs and controllable costs.

HN0YSY BN DAOBoDESAN 5.

Ascertainment of cost of production.

&)Y Hyd Neas.

Escalation clause and Surveyor certificate.

DVBAS & BB IEGA0E DFEES.

What are financial statements? Who require them?
PO0)00S RSB0y W08 N2 IHEY 3D §TBELD.
Quick current assets and quick current liabilities.

B0 5000 DB ($HgHS epen.

Duties of the storekeeper.

%‘35 258 a¢000.

Avoidable causes of labour turnover.

390 De8yG8 seSeen.

Acid test ratio.

&926&) X)‘é%)eg .

Explain the difference between cost accounting and management accounting.

s{\)) ©3°),0630R DoBASw BoIEI00ed @37 0630k Dogg Ko BTN 9HBOYHW.

Explain the features of a good wage system.

28 00D BD VPS8 &0EHOVN LEETOD BeYHD.

(DBC33)



(DBC33)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. Calculate the earnings of the workers ‘E’ and ‘F’ under straight piece rate and
Taylor’s differential piece rate.
e Normal rate per hour is Rs. 50.
e Standard time per unit 60 seconds.
e Differential piece rate:
—  80% of piece rate when below standard
—  120% of piece rate of or about standard
The workers have produced in a day of 8 hours as follows:
E =400 units
F =550 units.

BI0D 2D D008 80 B 208 T o Doredte 20865 Ho8an §ob
Parsgs DY Bex DG B0 (D550 EHRD0S.
o KowE Arprdes Ben &, 50.
o 2.5 ASPRESE (D907 SR : 60 (seconds) ED.
o 580 DADHOVD Ejmé&?eu::
— [P%07E00 ) BEYD 1 DD Bens® 80 BB
—  [DHI°E0 0IXPE : DD Bend® 120 TBHH0
§%250 8 K0 VDB 0N SPOHW.

sEE0c B = 28); 5%arS” 400 corRen Ho8050 52850k F = 550 aforden
&858 BV,

2. The following information is relating to Job No. 999.
Material used Rs. 1,80,000
Direct wages :
A — 240 hours @ Rs. 150 per hour
B — 220 hours @ Rs. 145 per hour
C — 220 hours @ Rs. 130 per hour
Variable overheads :
A — 1000 hours = Rs. 20,000
B — 920 hours = Rs. 13,800
C — 900 hours = Rs. 10,800
You are required to calculate the cost of the job 999 and the price to given the
profit of 20% on selling price.



& Howb 999 Wo0FodN dHTHed BNVH AY)BO
DIBIR0DD Boe3BAHS . 1,80,000
BEISRLICV

A — 240 Koeoe, Ko @ Rs. 150

B — 220 Koeen, Koeakd @ Rs. 145

C — 220 Koeren, Koesd> @ Rs. 130
8 &26817"5‘\) :

A — 1000 Koeen & = E3°. 20,000

B — 920 Koeen & = 8. 13,800

C — 900 Koewen & = 8. 10,800
2 DDED0 008 job 999 eHRE0 DeVHP 20 PHDN SPPIW BB0IIT’ & ard By,
DG I g B8 09D0.
Explain the use and significance of Ratio Analysis.

DY BAes ©rgFH0 DoBasw rS05B00 9HBOYDHW.

From the following particulars. Prepare a cost sheet for the year 2022 — 23 and
ascertain profit.

Rs.
Materials consumed 12,10,000
Direct labour 11,80,000
Direct expenses 5,60,000
Factory expenses 7,40,000
Sale of scrap 10,000
Opening work in progress 3,30,000
Closing WIP 5,20,000
Administrative expenses 10,40,000
Opening stock of finished goods 6,80,000
Closing stock of finished goods 9,05,000
Interest on secured loans 70,000

Selling and distribution expenses 4,60,000
Profit required is 20% of sale price

BHH DHEHDNO Hoo& 2022 — 23 Dol °e38 svﬁ;g 535 BOITEIDD eeeH0 B8);,0DH0.

8oe.
DOBIRODS D0e3B800S) 12,10,000
(DB, (850 11,80,000
(DB, H5as0H0 5,60,000
Prsg B HgaDO 7,40,000

BK), 58D 10,000



5.

(B80S §°RRHOBIY) DD

DR ETM0BOR) DD

DB 2550500

(2r8 08 BT VBL

DOVROY HOITPG D VBE

580 Mo oo} 3G

@HsTen Ho8asn D003 PByen
PEH0 BIRSOP 20 FHH0 88,030

3,30,000
5,20,000
10,40,000
6,80,000
9,05,000
70,000
4,60,000

From the following particulars prepare contract account.

Materials

Labour

Direct expenses

Indirect expenses

Plant purchased

Defective materials returned to suppliers
Loss of stock due to fire accident
Stock of materials at the end
Work certified

Work uncertified

Contract price

Depreciation on plant @ 20% p.a.

Rs.
20,40,000
19,80,00
12,50,000
4,10,000
80,00,000
2,00,000
50,000
1,50,000
60,00,000
5,00,000
80,00,000

BROD IHEH0O Hood SIS @?boém & O3 EORD AS0H0.

306380‘505‘\)

(0

(DB, Hgo%H0

D8, Hg0SoH0

§00R e DD yoed
DPOBL D BVH STHPT0Y WK
of}) (DDTE0S® SPAD VK
50RO e3B00S
$)DEB0DD DD

$)DEBOBD DI

SP0eE] DOV

F0odP BB 20FHHN ITe BATWHD

8°.
20,40,000

19,80,00
12,50,000
4,10,000
80,00,000
2,00,000
50,000
1,50,000
60,00,000
5,00,000
80,00,000



6. Following are the income statements of a company for the years 2020-21, 2021-22.
Prepare common size income statement and interpret the operation results.

2020-21 2021-22

Rs. Rs.

in Lakhs in Lakhs
Sales 600 820
Other income 10 15
610 835

Expenses :
Cost of sales 390 583
Office expenses 30 60
Selling expenses 38 32
Interest on loans 100 112
Income tax 40 32
Net profit 12 16
610 835

8K esTea% :>e§e> 5008 2020 — 21, 2021 — 22 Dol P8 DHODBHTE e8TOOI

RO BABTEIDR STEPOP ToFIFID0 BO0DW.
2020-21 2021-22

8o, 8oe.

ofos® oZes®
SAMISEN 600 820
JHY esmeasIoe: 10 15
610 835

:6?3055"03 :
@RS HWYO Hyao 390 583
DB ;6?305?03 30 60
HREY Igosren 38 32
DVETOP DG 100 112
eT0O0 DY 40 32
DEY ergsH0 12 16
610 835

7. Unit variable cost Rs. 80
Total fixed cost Rs. 8,00,000
Return on capital employed 14%
Fixed capital employed Rs. 80,00,000
Variable capital as % of sales 30%
Volume (units) 8,000
Find selling price per unit.



2.8); 0%0Re58 B DgasaH0 E3°. 80

0B DD 2\3(‘5 Dgas20 E3°. 8,00,000

DIBIROVI Do EHoR orard 14%

DIBIRODD ?(36 DT FAD0 8. 80,00,000

emo&s"@gg DY DIPOFD FHIN 30%

D80 (A5°0e)) 8,000

D DED00 008 o%o°ed 2.87),%),63 eaéo&ém 38 B8),09d0.

Stock Turnover ratio 8 times

Gross profit ratio 25%

Sales Rs. 8,00,000

Closing stock is Rs. 20,000 more than opening stock
Opening creditors Rs. 60,000

Closing creditors Rs. 80,000

Debtors (Average) Rs. 60,000

Net working capital Rs. 85,000

Find out

(a) Average stock

(b) Creditors turnover ratio
(¢) Average collection period
(d) Purchases

(e) Average payment period
() Working capital turnover.

LS EYHE DS 836

‘{og@ ey X)‘;@eg 25%

@éo&s"oo &oe. 8,00,000

DNROY VI 8085 DEIK Do E77) 8I°. 20,000 8015
(B8 083 2200€3T°H 0 &oe. 60,000

DVR0YY) STEH D 8°. 80,000

WOPV8 2008TPEH 0 &o°. 60,000

DEY DEgres DreEIHDD 8. 85,000

BROD DHEHNO D00 808 T°E38 EHORTH0HW
(@) WoPIB F& (b) aveTrBe 28558 DY () DTDB HAre SPeDdw (d) SR e
(6) DT°B BYoD Sod (f) DE§TFEs Bore S LEYHE DA



ASSIGNMENT-1

(DBC34)

B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Third Year

BUSINESS CORRESPONDENCE AND REPORT WRITING

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Body language.
B85 (DS,

Components of Business letter.

o5 &% 5HS® Horeseen.

Progress Report.

€,
B[R 855

Explain oral communication.

DTPE 877 [DRPE DN DHBoBIDW.

Explain the group communication.

109 875 (D8 D00 9580B0H%.

Inter personal Communication.

égt‘(é 3% (DPS D.

Mass Communication.

JI°D g°D (DR H.

Report writing.

6 oSS DB,

Explain the process of Communication. What is meant by Communication is a Two

way process?

gD (DR (DIBONR0 DHBOBIBN. B HICT %9 (DR (H(EAH @BMTBN?



(DBC34)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Third Year
BUSINESS CORRESPONDENCE AND REPORT WRITING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Discuss the importance of feedback in Communication.

gD [DRPEHNS” (DAY HPD0YFHH 9HBoBID.

)

Explain the difference between formal and informal communication.
POPIJ EPAIPD BT CPoPJEPAB[D 5D FERH DRSNS Brrodo
DHBoWIDW.

What are the advantages of E-mail?

Q-3000S HOD FOOrD (DBICEHDDVOD [FPO50DD.

Explain the verbal and nonverbal Communication.

35S 908050 T°E DK G (RSB0 DHB0BID.

Compare the features of oral and written communication.

QP& 5080500 AT°PE 2° (DS OFEINDNON DD B0HIIN.

What can be done to overcome the barriers to Communication?

2o (DAY €3605°0R0 @ BA0WIEIED DA DOLIBRO?

What are the different types of report? Briefly explain the purpose of each type.
DG 5570 IHBED IHB0VIDW. T [DBIBIHBVOB0 DHB0VIBW.

Explain the importance of Grapevine Communication.

RO 8775 (DRr8H0 BE),; DEeRgHDH0 DHB0BIDY.

What are the functions of Business letter?

ma@vcf JB°O o?m§b DEOORD0 BOVYYIN.



(DBC35)
ASSIGNMENT-1
B.Com. (General) DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
BUSINESS DATA PROCESSING SYSTEMS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain about Files and Records.

PS) MBS0 85°8y 1809 9580H0s.

What is Data Processing?

G Processing 083 206372

What are the advantages of Database?

Gerdh @BoE); (ABTEPre0 063 ?

What are Report Commands in DBASE?
DBASE &° Report es33°00 9906372

Explain creation of database and open an existing database in DBASE.

GerBh By, AR D3B0H0E BoBA aNSE ) Gerday DBASE &° 35508,

Write an overview on Worksheet.

2653_,%3@52.3 overview o°a3o&?

What is File management under windows?

90&% 808 PS DREI0ES @083 eI ?

What is character Formatting?

525055 ro%ye3ofl @08 d20e3?

Explain File manipulation and maintenance.

S 5rYBAS 20805 DEGTEsR 9HB0B50E.



(DBC35)
ASSIGNMENT-2
B.Com. (General) DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
BUSINESS DATA PROCESSING SYSTEMS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Write steps create mailing labels in DBASE.

DBASE &° 300080f Bandein 90 8ok odod.

What are the features of Worksheet?

bgbixeg BoE); OFETOO D3 ?

What is meaning and purpose of Windows?

DOE"R B, ©F0 HBAW (DB eI ?

Explain various data processing methods.

DD Ger processing D B DHBoBok.

Explain how to create and print Formatted Reports in DBASE.

DBASE &* @oov&eﬁ DD VB der ‘&Dz}omé’s S08050 print DasreeS® 9980908,
What is a structure of a database? How to Create, View, and Modify the structure?
Database 90%g30 @083 De3? DOYETR) J° R0, Do H080K» JHBoT?
What are the parts of worksheet window?

265(,%)@5 DO’ B, Frrren D03 ?

What are the features of word Processing?

‘cﬁé Processing &300%); o§g7e0 63?2

What are the options in Edit Menu and Format menu?

Edit D050 $508as0 @»035 050S° Jodgen de3?



ASSIGNMENT-1

B.Com. (Gen) DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year

CORPORATE ACCOUNTING

MAXIMUM MARKS:30

ANSWER ALL QUESTIONS

Need for valuation of shares.

2 2080 e5E5ES

Types of debentures.

&BosY Sseen

Under writers vs brokers.

©0¢8 Beby vs (Y

Purchase consideration.

§0R%0 (D890

Minority interest.

©0)D0grgd0 8%%

Contributory.

500163 w§w6

Types of insurance.

DI Ezeen

Slip system of posting.

(RO VQDO Boog), 5Q0oR) D& DF=H0 BE), HIT.

(DBC36)



9.

10.

X’ Ltd was registered on January 15t 2023 with an authorised capital of Rs.
10,00,000 divided into 10,000 equity shares of Rs. 100 each. It offered 9,000 equity
shares at par, payable as

On Application Rs. 10 ; on Allotment Rs. 50 ; on First call Rs. 20 ; on second cell
Rs. 20. All the shares were subscribed and amount duly received. Pass the
necessary Journal entries and prepare balance sheet of the company.

1 25958 2023 5 X O08BE& a0 55°.10,00,000 ehEys saressos® 8895 DaHads.
29 10,000 &:8ge3 Treren 85100 E o 92522092358.9,000 Se8g83 sreren HS09
De0HE" 1808 DSor DHo) BASHey &8 JANEIHE.

SEPTNE® 83°.10 Ber00003) 8 50, I3 o0y 8°.20; DY v 83°.20 ev.

®R) T How BaE 3o DAY DALY BOVJB. WHVEID DEF VIO

@R, &9 ©YPe DEIED HATE DAHos.

Explain briefly various methods of valuation of shares.

TETOL) DD ée‘é DD DFBooR HYorr 9580%065.



ASSIGNMENT-2

(DBC36)

B.Com. (Gen) DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year
CORPORATE ACCOUNTING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. From the following information, calculate the value of equity shares.
Amount Rs.

3,000, 9% preference shares of Rs. 100 each 3,00,000
50,000 equity shares of Rs.10 each Rs.8 paid  4,00,000

Expected profit per year before tax 2,18,000
Rate of tax 50%
Transfer to general reserve every year 20% of profit
Normal rate of earnings 15%

BOB VBT EBD 900 He§ged Trer D0 BE YOS

Yo 8.
3,000, 9% esBE5 Trered 257863 837,100 DenSEes 3,00,000
50,000 &5+85e3 Trere0 83°.10 0 D0dHEB Deod Ko Sr.8e 3doass 400,000
5598 D006 BIr0DD erEso 2,18,000
559 D009 50%
(D8 DodB Y0 FprSes BesBagEdo w8 20% 8550
D8 el Ben (orad) 15%
2. On 1st August 2022, the following balances were extracted from the balance sheet
of Sri Ltd.
Rs.
(a) 12% redeemable preference share capital 12,500 shares of Rs. 100 each 12,50,000
(b) Calls unpaid final call on 500 shares @ 20 each 10,000
(¢) Share premium 1,25,000
(d) General reserve 4,00,000
(e) Profit and loss account 2,96,365
() Declared preference dividend not yet paid 1,44,800

The company redeemed all its preference shares at a premium of 6% and for the
purpose, company issued equity shares of Rs. 10 each at a discount of 10% for such
an amount as was necessary for the purpose after utilising the available profits to



(a)

(b)
(©
(d)
©)
®

the maximum possible extent. It also paid the declared preference dividend, show
the Journal entries.

1 e5/( 2022 5 @ OMBE 78 &5 Yo HGE 009 808 degen ©PoTow.

Eoe.

12% 2I79R0% @B Trer BorerEHo 12,500 arered 8. 100 © deon  12,50,000

[ {1A]

D90ND DeVYeV 500 Tere P . 20 &0 I8 Dew)

e (DA
8 e 8805

@eﬁé%@ P

GB0& (D8830d BOEIT DYoVIB

10,000

1,25,000

4,00,000

2,96,365

1,44,800

50D of) 855D Toerod 6% [DA08" JBIB0 DVo8. BIF 8710 © Devd Ko

Se8ged TereR0 10% G068 @938 HEK erB8IV08. @od erefdn Ko

KBQ DuEDD &IBIR0D, DRAD JITHD 5095 Fe8ged Trered a8 Boswertd

R7E)000D08. (DEB 0 ETOED e IY0D0B. SV e D0 [FPa%00G.

The following balances appeared in the books of Mudra LIC as 31.03.2015.

Claims paid

Reversionary bonus paid
Commission to agents
Auditors fees

Postage and telegram
Sundry expenses
Investments

Outstanding interest

Cash at HDFC bank

Interest and dividends received
Premium received in advance
Sundry creditors

Surrenders

Establishment charges
Medical fees

Rs.
1,15,000
12,300
48,500
24,000
1,000
800
40,47,400
69,800
29,600
2,25,300
9,000
18,000
3,200
23,400
10,200



Rs.

Stationary and printing 4,800
Office rent 4,250
Bank charges and commission 950
Loans on polices 1,74,700
Outstanding premium 23,200
Fines and fees received 300
Premium income 3,30,800
Claims admitted but not paid 2,10,000
Opening use fund 38,00,000

Prepare its final accounts for the year ended 31.3.2015.
31&03&2015 o3 S0 2% DI Eond BE); K))E)DS‘OGSB D0 BROD dHoRen

JIEDD.
&,
Zoodwen 25020‘59) 1,15,000
858958 00 390D 12,300
DB 0N EA 48,500
36600y Koo 24,000
B HoBaAw BJewe 1,000
DDEHNBD PENO 800
ey 40,47,400
3Qomdyd 9& 69,800
HDFC ergo80 5¢8 e 29,600
DG en 5805 EIToE) HATBHD 2,25,300
B0 AT (DACR0 9,000
DD 2203T°H OV 18,000
Se50008%0 3,200
DFIRE I PEReO 23,400
68 TPeo 10,200
DOSEd HOBAL PASB 4,800

svoge)o:foo &9@ 4,250



8o,
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1,74,700
23,200
300

3,30,800

©R0DB0DVEDD 520 DY0DWLD Fowaoen 2,10,000

BB DHI° D085 Do

38,00,000

31.3.2015 &° ©0BHIE305 V0HBITRE P HPR0Y BE) R HASTE BoDoE.

4. From the following ledger balances extracted from the books of "Yes Bank Ltd" on
31.3.2012, prepare profit and loss account for the year ended 31.3.2012 and the
balance sheet as on that date as per the required proforma.

Debit balances Rs.

Loans, cash creditors and over  2,85,000
drafts

Premises 50,000
Indian Govt. securities 4,00,000
Salaries 28,000

General expenses 27,400
Rent and taxes 2,300
Directors fees 1,800
Stock of stationary 8,500
Bills purchases and 96,000
discounted

Interim dividend paid 17,000
Interest paid 1,00,000
Shares in companies 2,50,000
Cash in hand and with RBI 2,93,000

Money at call and short notice 1,80,000

17,39,000

Additional information:

Credit balances

Share capital

Reserve fund

Current deposits

Fixed deposits

Saving deposits

P and Loss A/c as on 1.4.2011
Interest and discount
Recurring deposits

Commission, Exchange and
Brokerage

(a) Create provision for bad debts at Rs. 5,000

(b) Interest accrued on investment Rs. 8,000

Rs.
5,00,000

2,560,000
2,00,000
2,25,000

50,000

66,000
2,28,000
1,20,000
1,00,000

17,39,000



(¢) Un expired discount amount to Rs. 380

(d) Interim dividend was declared at 4%

(¢) Endorsement made on behalf of customers is Rs. 1,15,000

() Rs. 10,000 is added to premises during the year depreciate premises at 5% on

its opening balance.

31.3.2012 3¢5 ‘Yes Bank Ltd’ 978 Q570 000 395080 BK0D dHTro& ergIL

FEBRH) HoBASN 6 @Yo ‘Qeééo E°8 D0EHO J0EE HABTE BAOE.
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2,85,000

50,000

4,00,000

28,000

27,400

2,300

1,800

8,500

96,000

17,000

1,00,000

2,50,000

2,93,000

1,80,000

17,39,000
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5,00,000

2,560,000

2,00,000

2,25,000

50,000

66,000

2,28,000

1,20,000

1,00,000

17,39,000



@D WHTTEo:
(a) oD arde 3 domyew 8. 5,000

(b)  Deywcep SWrgH 3¢ 5. 8,000

(©  Hwowor Dodd &m0 3B o 8. 380
@ (H5B0dD 50$gEO8 GDBow 4%
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5. On 31st March 2012 the balance sheets of H Ltd and its subsidiary S Ltd stood as

follows.
Liabilities H Ltd S Ltd Assets H Ltd S Ltd
Rs. Rs. Rs. Rs.
Equity share 8,00,000 2,00,000 Fixed assets 5,50,000 1,00,000
capital

General reserve 1,50,000 70,000 75% shares in S Litd (at 2,80,000 —

cost)
Profit and loss A/c 90,000 55,000 Stock 1,05,000 1,77,000
Creditors 1,20,000 80,000 Other current assets 2,25,000 1,28,000
11,60,000 4,05,000 11,60,000 4,05,000

Draw a consolidated balance sheet as on 31st March 2012 after taking into

consideration the following information.



(a) H Ltd acquired the shares on 315t July 2011.

(b) S Ltd earned a profit of Rs. 45,000 for the year ended 31st March 2012.

31 3078y 2012 703 ‘H’ ABE °8 HIBATN D D000 K)o‘é ‘S dBE o8 e
PO ‘&)eé DI BHRODDOIEDD.

Qpen H 90&BE& ‘S O&3& SISVIM) ‘H 908& ‘S d0BE&
6. e, e, e,
é'echég e oo 800,000 2,00,0009 5oy e 5,50,000 1,00,000
@ o
Do
rpr8es 8805 1,50,000 70,0003 9on83&S%D 75% 2,80,000 -
TP
(@8%0)
oiHLO P 90,000 55,0004 55, 1,05,000 1,77,000
BIEITTODH OO 1,20,000 80,000 a5 (R0 es0en 2,25,000 1,28,000
11,60,000 4,05,000 11,60,000 4,05,000
BIH HT°0D DBAS DS HWE™K) edoB50 31 H5°6) 2012 T3 VRLyH (b§§gé§)
&) DD HOITEO BA%od.
(a) ‘H O08BE& 3050 31a7G 2011 F0¢0 T2 ED0R 00 BOSIEINSE.
(b) 3135°8)2012 7638 ‘S’ AWBE K> JorBoDN ergfo. 45,000
6. Define Accounting standard. Discuss the importance of accounting standards in
ensuring transparency in business results.
©S°0B0R [DITEFOR DYD0HoE. TS PIT ST JBESLESD X)g;@oiﬁdéoé‘s
©F°030R (DI (PP ERghD DHB0BE.
7. What do you mean by liquidation of a company? Discuss various modes of winding
up?
E0R DBIDTR @3 dY DD ©g0 DWETYY ? DBABTNE R0 DD D¢ Bo0B
HByodod.
8. Explain in detail about Amalgamation, Absorption and Re-construction.

DOBIK0, D0dH0 HIBASN YREEIYE OSBRI K8 dHB0DVOE.



(DBC37)
ASSIGNMENT-1
B.Com. (Gen) DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
ADVANCED MANAGEMENT ACCOUNTING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. Cause and effect analysis and use of techniques in management accounting.

5°8 €390 HOBASN POB 0 HBoBas DI ::x(:g OO &VABIHD.

2. Meaning of capital budgets.
BT ED m%es e 50

3.  Ascertainment of working capital.

DESTE DOV ERDDN A€

4.  Meaning of variable costs and fixed costs.

DG Sgo5Ten 508030 ?35 Hg05e0 egzéoo

5. Material mix variance.

206380505 Q[ED DS e.

6. Capital Rationing Decisions.

‘irééozogég;s BOTOED DY ASIH0

7. Give two examples for source and two examples for application of fund.
DRI HDACPFTOE) B0LD GWPIPE LIV DBATD Do eabo;ﬁgo;’g)oéo B0

GTOIPE £INN.

8. Meaning of B.E.P and its uses.
B.E.P eagboo DBATN &HBIereD.

9. Discuss management accounting of an information system for decision making.
DYOAHD AWED (DIBONS® DGres ©FT0BOR ¥ VHTTYE Vg ©D dYHoon
3G oDd%.
10. Explain about budget manual.
G &5 3005 K8y 9HBoHos.



(DBC37)
ASSIGNMENT-2
B.Com. (Gen) DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
ADVANCED MANAGEMENT ACCOUNTING
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. Find outley present value and net profitability index for the following data.

Initial outley Rs. 60,00,000
Estimated life 4 years
Salvage value at end of 4t year Rs. 5,00,000
Working capital introduced ‘0’ year Rs. 6,00,000
Year PAT
Rs.
1 8,40,000
2 9,00,000
3 9,60,000
4  6,00,000

Depreciation has to be calculated on SLM
PV for 10% 0.909 0.826 0.751 0.683.

BROD DHTH0 D0 DEY (NG D0 SoBakn 5960093 B0G5) B8) 0.

oo 5% Deywd 83°. 60,00,000
rBE) 298 sPoDD 4 2058 DeD
TR’ D0DHYB0 DHY |>BE DO 85°. 5,00,000
[D°80850S° DELTPEs DIT°OFHH0 &5°. 6,00,000

QAOLHYBIN  DDY BBYT*® ergso

1 8,40,000
2 9,00,000
3 9,60,000
4 6,00,000

BHENESOD ?}35 TONTO HFSD AT BATNDX.

PV 10% 0.909 0.826 0.751 0.683.



From the following information compute working capital.

Rs.
Long term investments 12,00,000
Plant 17,20,000
Inventory 8,90,000
Creditors 7,10,000
Provision for taxation 1,00,000
General Reserve 6,00,000
Motor car 15,00,000
Short term investments  6,50,000
Prepaid rent 2,40,000
Bills receivable 3,05,000
Bills payable 8,10,000
Bills overdraft 11,70,000
Long term loans 15,00,000
Debtors 5,70,000
Cash at bank 5,10,000
Cash credit 2,20,000

BROS DHEDVO 006 DEFIE HoTPOFIDD B8);0H05%0.

oo,
83 3500 1)&8&)& 12,00,000
2065 17,20,000
[Ag08 8,90,000
2VVEIT°H O 7,10,000
D598 Domyen 1,00,000
FeSes BesBog 6,00,000
DIceTEd 5080 15,00,000

AT DeP I 6,50,000
oo Do ez 2,40,000
ST Ve e 3,05,000
390D Deeo 8,10,000

2508 858 =3gs) 11,70,000



BYsee o0 15,00,000
al

Beaen 5,70,000
250806 B eSO 5,10,000
15 8aS 2,20,000
3. From the following balance sheets of Ram Co Ltd. prepare a cash flow statement.
Liabilities 1.4.2020 31.3.21 Assets 1.4.20 31.3.21
Rs. Rs. Rs. Rs.
Equity share capital  5,00,000 6,00,000 Machinery 8,70,000 7,83,000
10% preference 3,00,000 — Goodwill 17,000 10,000
share capital
General reserve 82,000 90,000 Investment 2,00,000 1,00,000
Profit and loss Alc 1,70,000 2,00,000 Stock 47,000 40,000
Creditors 82,000 79,000 Debtors 32,000 26,000
Dividend 55,000 — Bank 15,000 5,000
Preliminary 8,000 5,000
expenses
11,89,000 9,69,000 11,89,000 9,69,000

Additional Information:

(a) Machinery costing to Rs. 87,000 (Accumulated
80,000) was sold for Rs. 8,000.

(b) Rs. 1,00,000 investments were sold at book value.

depreciation thereon Rs.

P50 oW 78 B0D &Ry Pe Do $00d HAG) (DT VDBY SASIE D0

@pen 1.4.2020 31.3.21 8@&,
Eoe. Eoe.

é-eéogeg oo Soresso  9,00,000 6,00,000 fevSTeY[ 305V}

10% es&5ys woregso 300,000 ~ &S

S BesBog 82,000 90,000 bega)c&)&)
1,70,000 2,00,000

o Japo e @Q;E

2VEHTT°H D 82,000 79,000 AMECIAESVGY

GIB 0D 55,000 T g0

1.4.20
8o,

8,70,000
17,000
2,00,000
47,000
32,000

15,000

31.3.21
Eoe.

7,83,000
10,000
1,00,000
40,000
26,000

5,000



@508 pBnE 8,000 5,000

11,89,000 9,69,000 11,89,000 9,69,000

5 DETTEE0:

(a) aBoor D BI°. 87,000 (3%3:.3 HEREO S3°. 80,000) €3 ASoo|T°ON0 EI°.
8,000 9% e:o:)o&e‘.’é&

(b) b&é))a)c‘pooo 85°. 1,00,000 DRS00 Do) (D5°EH0 ea:)o&@&

Sales Rs. 80,00,000

Marginal cost is 70% of sales

Fixed cost Rs. 16,00,000

Find:

(a) Variable cost

(b) PV ratio

(c0 B.E.P

(d) Margin of safety

(e) Sales if profit required Rs. 10,00,000
() Draw marginal cost statement and

(g) Ifsales Rs. 1,00,00,000 what would be the amount of profit.

@ZéoéS"OJ 8°. 80,00,000
bygéeg svgg 70% es5ys~en
?pg“)& S"Z\Q) 8o°. 16,00,000
BHRID DHEH0 HDood

(2) B8 Bgosre

(b) PV aya
(¢ B.E.P
(d) B0 58

(e) ergso 8°. 10,00,000 5°H000S EEMSLM
€. S
)  Srges S 8953005 $08050
(8) edysen 8. 1,00,00,000 @005 PE30B 0 EHOR"HID.



5. From the following information compute

(a) Direct material price variance
(b) DMUV and

(¢ DMCV
Item Standard Actual

Qty Rate per unit (kg) Qty Rate per unit (kg)
(kg) Rs. (kg) Rs.

P 970 62.00 965 60.00

Q 1005 70.00 1010 72.00

R 880 60.00 890 65.00

S 700 70.00 700 68.00

8K HEHO Dood

(8) DoBBANS $E 9B e,

()  I3B0S DIBIK DD Eed HoBOSN
(©  Doe3B0%S B50% DBGEd B 0HW.

3063805 PeOTE3E T
DBIT0  aoreed 8 (kg) D80 afarded ¢85 (kg)

(kg) 8. (kg) 8.
P 970 62.00 965 60.00
Q 1005 70.00 1010 72.00
R 880 60.00 890 65.00
S 700 70.00 700 68.00

6. How do you ascertain funds from operations and state uses of funds flow

statement?

S°C5§S°o“=éveu °go° bx‘:)z)é DB D o Béboéodo B0 VO DD FORTALS
DO GIBITTOV D)BOYDN.

7. Explain the meaning, features of marginal costing and state the advantages of
contribution.

S8R va)oﬁ @g:)oo, 0&eTe0 BOV HBO%0 FoEEITNS GDBITTeY DHBOYIW.

8. Enunciate the benefits of standard costing.

RroTe3E °QPOR SIBITre 9HB0BIBY.



